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j: T %3( % §+ % %: (124 9)
4 PR #t A BAT 5
+ T
e 1| NO. 4+6. 000f} 3T ~No. 6+2. 2001+ T
V= 0.50 x 0.10 / 2 x 36.2 = 0.905
W+ TH D0, il &ic s
V= 0.905 / 1.2 0. 754 m3 0.75
b5y IS NO. 4+6. 000f} 3T ~No. 6+2. 200+ T
V= = 0.754 m3 0.75
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1704 Y
i B A alll p53) s HAL| % & T H
% om R L = 1
t=7cm

R M TR ERHERATVVRET [ m2 679

m2 236

72 Bg 5 | kAL FREAEM | m3 5

OVOENfE L = 1
O N E R A A e SR BIE] m 69

w & A5 Co m3 0.01

w AL A A5 Co m3 0.01
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L = (124 9)
4 PR #t H 2R VAR~ &=
1 yEmmMR A T
-1 BEJEHR FIRRHEIR N B L & LIRS
(t=7cm)
(A A 73)
A3= 153.969 + 2.272 + 207.193 —+ 20.493
+ 59. 301 =  443.228 | m2
(2 A 74)
Ad4= 214.780 + 20. 888
= 235.668 | m2
XA = 678.896 m2 678. 90
1-2  ZEfRfciA A2 R REULH
(& A 74)
Ad= 214.780 + 20. 888
= 235.668 m?2 235. 67
V= 235.668 X 0. 02 = 4.713 m3 4.71
2.0 EIiE T
2-1 OOENFEE
GEE) L= 10.8 + 4.6 + 1.1 + 10.0 + 16.9 +
1.2 + 18.0 + 1.5 + 4.4 = 68.500 m 68. 50
1 HEEY) Y FeE R
W= 0.168 X 68.5 = 11.508 @ kg
2-2 BRE#E V= 0.010 X 0.015 X 68.500 = 0.010  m3 0.01
(#£4%5Co)
2-3  wRALVSy V= = 0.010  m3 0.01
(#4755 Co)




EWwEWRAT - 2 A4 73
(1B H)

(14 0)

4

it 5

HiL # &

EATTET

Al=1/2 X ( 10.08 + 9.92 ) X 1/2 X

@
( 8.035 + 7.100 )

A2=1/2 X ( 10.23 + 10.08 ) X 1/2 X

@
( 6.830 4+ 5.700 )

A3=1/2 X ( 9.40 + 10.23 ) X 1/2 X

)
( 1.190 + 1.800 )

75.675

63. 621

14. 673

XA

153.969 m* 153. 97
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EmEmWRANTLT - 2 A4 73

(/J\&l) (14 9)
4 PR #t H BHAL =%
HmmiE Al=1/2 X ( 3.595 + 2.895 ) x 0.70 = 2.272
®
SA = 2.272 m’ 2.27
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EmEmWRANTLT - 2 A4 73

(14 0)
(2B B) g
4 PR #t A BAT 5
A AR A4=1/2 X ( 10.06 + 9.98 ) X 1/2 X
@
( 5.500 + 6.360 ) = 59.419
A5=1/2 X ( 9.51 + 10.06 ) x 6.260 = 61.254
@
A6=1/2 X ( 10.04 + 9.51 ) x 5.760 = 56.304
AT=1/2 X ( 9.90 + 10.04 ) X 1/2 X
@
( 0.780 4+ 0.650 ) = 7.129
A8=1/2 X ( 9.44 + 9.90 ) X 1/2 X
( 2.640 4+ 2.135) = 23,087

XA = 207.193 m°® 207. 19
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EmEmWRANTLT - 2 A4 73

4 PR #t A BAT
A AR Al=1/2 X ( 0.89 + 1.22 ) X 1/2 X
)
( 5.390 4+ 5.500 ) = 5.744
A2=1/2 X ( 1.29 + 0.89 ) x 6.260 =  6.823
A3=1/2 X ( 1.16 + 1.29 ) x 5.760 = 7.056
A4=1/2 X ( 0.720 + 0.780 ) x 1.16 = 0.870

XA = 20.493 m® 20. 49
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EmEmWRANTLT - 2 A4 73

(140
(3E:H) ASD)
4 PR #t A BAT 5
A AR Al=1/2 X ( 3.81 + 2.97 ) X 1/2 X
( 5.030 4+ 5.390 ) = 17.662
A2=1/2 X ( 3.24 + 3.81 ) x 6.260 = 22.067
a
A3=1/2 X ( 2.91 + 3.24 ) X 1/2 X
( 5.780 + 5.760 ) = 17.743
A4=1/2 X ( 2.43 + 2.91 ) X 1/2 X
( 0.650 + 0.720 ) = 1.829
SA = 59.301 m? 59. 30
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EEWRANIT - 2 A4 74

(140
(18 H) ASD)
4 PR &t A BAT 5
A AR Al=1/2 X ( 10.00 + 9.94 ) X 1/2 X
@
( 6.530 4+ 7.395) = 69.416
A2=1/2 X ( 9.51 + 10.00 ) X 1/2 X
@
( 6.270 4+ 6.260 ) = 61.115
A3=1/2 X ( 9.85 + 9.51 ) X 1/2 X
( 5.770 4+ 5.760 ) = 55.805
A4=1/2 X ( 9.92 + 9.85 ) X 1/2 X
@
( 3.345 4+ 2.410 ) = 28.444
SA = 214.780 m? 214. 78
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FmmfE  Al=1/2 X ( 0.71 + 0.89 ) X 1/2 X
( 6.410 + 6.530 )

5.176
A2=1/2 X ( 1.55 + 0.71 ) X 1/2 X

( 6.260 + 6.270 ) = 7.079
A3=1/2 X ( 0.70 + 1.55 ) X 1/2 X

( 5.760 + 5.770 ) = 6.486
A4=1/2 X ( 0.70 + 0.70 ) X 1/2 X

( 2.790 + 3.345 ) = 2.147

XA = 20.888 m® 20. 89
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4 R At A HAL % &
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OUEINER

(Mg 2mm) L1= 10.
L2= 4,
L3= 1.
L 4= 10.
L 5= 16.
L 6= 1.
L7= 18.
L8= 1.
L9= 4,

XL 68.5 m 68. 5
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YhaR &R T Hh AL I8 VaaRE
U F o (T4 <—%&Mf) (AT & S HETRF KR
4 PR = 1 BN % =%
arvsy—trnox— L= 10.0 X 2 20.0 m 20.0
(1 f7)
FEIEAS W= 0.12 L/m X 10.0 1.200 @ 0 1.2
(\TEstergx o ST N—7R > NEPINB[RIZSE M, FLEE1. 4g/cm3
1.4 g/cm3 = 1400 kg/m3 = 1.4 kg/L
m¥%Y
W= 1.4 kg/L X 0.12 L/m 0.168 | kg

7794 ~<— W= 0.0l kg/mX 10.0 0.100 | kg 0.1

7T A ~—100[F) 5 5
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WO T % RO OB B A

4 i " Hi, # &

el L RE, {REREFAX KLY

(54 B Al= = 112.393
Ab= = 50.000
SA = 162.393 m2 162. 39
SNARTEM W= = 2.0 t 2
(B - #3)
SRSy W= = 2.0 t 2
(B2 - #p) A OHENAFEEE  W=0.8t/m3
V= 2.0 + 0.8 = 2.5 m3
faf FE A DAIRBE T OHAFE ML V=0. 4~0. 7t/Z%m3
V= 2.0 = 0.55 = 3.6 ZZm3
SNARTEM W= = 2.0 t 2
(FREE)
SRRy W= = 2.0 t
(FREE) AR OHALAFEE SR W=0. 8t/m3
V= 2.0 = 0.8 = 2.5 m3
i FE A DIRAE T OHEAE  V=0. 4~0. Tt/Z%m3
V= 2.0 =+ 0.55 = 3.6 7%m3 4
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